M1 ROX 11"7 '010 2,11 YR .70

— 92 RN 7Y DY MW TR KON
Rather the difference between them is regarding whether the loan is
in the possession of the owners for retraction

Overview

There is a dispute between the p"n and (n" 0wn) X"2w", whether one who is w7pn
mona is she nwTpn (the view of R"awM) or not (the P"n). 727 explained that they are
arguing whether the m>n can retract and take back his money (before it is spent); the
P'"n maintains that he cannot and X"2w" maintains that he can.
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The explanation of their dispute is that according to the p'"n of X"2w9, she is not
nwTiP» because the loan (even if it was not used at all) ‘stands’ in the possession

of the ;1% (the woman, so he is not giving her anything with the Pw17p) -
= 2839597 NN MY NIYNT DIVN NYNIPN 9INT ITYIN 12 )IYNY 229)

And X'"'2w9 who maintains she is nwTIp% that is because the loan ‘stands’ in the

possession of the 79 (till it is used, therefore by being wTpn her with this money he is giving
her something now).

n1voIN asks:
= INVNYY NN ININD 29 N1 ININ YINN ON)

And if you will say; we should still assume that 239 said his ruling (that wpna

NWTIPH "R Mo»2) only according to some 298N (not according to everyone) -
- 39199N 13 PPNV 2395 120 S0 NY NUTPN AR MYNI YIPNN MNT 1N NIT

For 17 who maintains n@Tip» 798 7923 wpna cannot agree with X'"aw1 who
maintains that since X»»p %1 w12 Mo, she is nwTIPn with a M9 —

! Even though the Mm% did not spend any of the money, nevertheless once the m% receives the loan from the M7, it is
his money, and the m%» cannot force the Mm> to give it back to him now. Therefore prior to the 1w17°p the money
belongs to the woman (the 71?) as a loan and the rule is one cannot be w7pn with a loan that is owed.

2 If the loan was not used yet (the money is 7°v2), the M>» has a right to cancel the loan and demand his money back
immediately, meaning that at this point the money is still in the possession of the m7» (not of the woman [even though
physically it is by her]), therefore when he gives her the money to keep as Pw17°p 703, he is giving her his money.

3 From ma0n answer it (seemingly) appears that in the question n1901n assumed that the dispute regarding nwa2 mn»
777 92 is in any case, even if some of the money was spent (not like the X3p0n), nevertheless regarding the
remaining money which was not spent, X"2w" maintains that it is 7722 Mwo3. This seemingly contradicts the ruling of
27 that nwmpn 7K M2 wIpnn (even) if (only some of) the money was spent. [Alternately, in the question nooIN
assumed that 27 maintains NWTIPR 7R M2 WIPn, even if the entire M7n is PYa (not like the Ripon), which contradicts
the ruling of X"2w".]
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NID0IN answers:
=919 SWPIN KDY NN 930 933 297 9D YN

And one can say; that (it is possible to assume that) 39 also agrees with X"aw",

and yet there is no difficulty at all -
= NN DINNNY NITNA 29990 NYNHPN NN 29 9INT NNT

For this which 29 ruled that nwT?» 798 is in a case of a loan which the woman

began to spend (she used some of the money) -
= 10199 MY NV 1PN NYTIPN NIINRT 9INP NN

And (only) in this case did 27 rule that nwTp» 78 even if a "W of the loan

remained in her possession (she still has a "W of the original monies left by her) -
= 41992 1957y NONYW NIDNA NONX 299N NY TYIN 13 PynY *29)

However X' 2w9 who maintains she is nw7p» is only discussing a case where the
entire loan is still present (none of the money was spent).

Moo anticipates a difficulty (with the idea that X"2w" is discussing where the m%n is 1°v2):
- SHYTIDN NDIND MY NV ON PYNY 5397 73N9912 TINT 22 5Y GN)

And even though it was taught regarding the ruling of w''9 that she is nwmpn if

D" ;72 NWI -
- ANOINY HINNNY 39 Y IN YUt

Which indicates that she is nwT1?1 even though she began to spend it (not as maoin
explained that the rule of X"2w is only if the entire mYn is 1°¥2) —

mooIN responds:
= 9192 NV ROV YTARY IN 1209Y 299913 TYIN 13 PYNIY 2297 901 V)

One can say that X'2w9 is discussing a case where (part of) the loan was stolen

or lost so that the woman did not use the money at all, therefore the remaining money is

still Mm% mwna and she is nwTpPn -
YNPN NN ININNY HPNNH DN YaN

However if she began using the loan she is not nw 7%, since it is no longer m>» Mw"2.

Summary
The ruling of 21 (that nwmpn "R M2 wipnt) is where (at least some of) the loan

4 See footnote # 2. See NP1 7"7 "W,

3 For clarification we cite the Xn™12 in its entirety; TaRW X 2123 NRIA 799N 7792 %2 WOW NTPDA 2 WIPNT TWR? AINA
27 WP [A1K] 701D MW 12 P nwI[w] (X9W) 5 DY AR T1PR2 DWTIPD PR IR? ORI NWTIPR 70109 MW 1RO PNwl R
11793 K71 577 7191 PR 227 DWW MR VIR 12 wnw. It does not state explicitly in the words of X"awA that by a loan ox
nwTIPn 8" W 1 »nwl. However X"awn is replying to the p"n that 177793 R°7 °77 M9», and by 11799 the p"n stated that
NWTIPn 5" A Nw ox, and X"awA rules that 7197 is like a 17p9; meaning that WP 5"W 72 7 NWw1 OX.
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was spent; while the ruling of X"2wA (that she is nwTpn) is when she did not spend
any of the money (even if some of the money went missing [172Rw X 12321]).

Thinking it over

1. w" maintains that a M%7 is 77m2 2°%°¥2 M1 if it is Pva 79 (and therefore in
such a case nWTIPR MYn2 wIpni). What will his view be in a case where 8°X173% 210
(and "W 9»nwy), is the remaining M%7 (that remainder that is 1¥2) still 2°%va mwna
7711, and nevertheless she is not nW7Pn, or that the remainder is not 2°7v2 NWwA2
77m° and therefore she is not nwpn? How would we explain the former view why
is she not nwpn (if the remaining [5" W] is still 771> 2°2v2 nwn3). How would we
explain the latter view that if nothing is spent it is 2°%¥2 Mw3, but if some of it is
spent, even the remainder is not 2°%v2 nw21?

2. Why does the p"n state (in the revised X07°) that 7R 5™Ww 732°7 P NYIw 5"YR
nwTpn, when the rule is that even if nothing was spent and it is all 1°¥2, she is still
not nwTPn (according to the p"n)?°

6 See R"wIN.
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